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For this paper you must have:
● mathematical instruments.

You must not use a calculator.



WMP/Jan12/93651F/B
(02)

2

Formulae Sheet: Foundation Tier

Set notation



WMP/Jan12/93651F/B

Turn over �

(03)

9

Do not write
outside the

box

11  (a) Work out      800 – 26

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (2 marks)

11  (b) Work out      25% of  48

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................             (1 mark)

11  (c) Work out      ( – 4 ) + ( – 5 )

............................................................................................................................................

                             Answer ......................................................................             (1 mark)

11  (d) What is the remainder when 450 is divided by 7?
     Show your working.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (3 marks)

11  (e) Work out      12.4 + 0.76 + 5

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (2 marks)

3

Answer all questions in the spaces provided.
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(04)

12  Put signs in the boxes to make these calculations correct.

     You may use the signs         +,   –,   × and   �

12  (a) 1 2 3 = 0

(1 mark)

12  (b) 1 2 3 = 5

(1 mark)

12  (c) 1 2 3 = – 4

(1 mark)

13  The numbers 1 to 8 are put in a grid.
     The positions of  1, 3 and 6 are shown.

     Each side of  the grid must add up to 12.

     Complete the grid.

(3 marks)

1 6

3
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14  Here are three groups of  numbers.

     Group A Group B Group C

    2       4 5       7 8      10

    3 6 9

     A number is moved from one group to another.
     The sum of  the numbers in each group is now the same.

     Which number is moved to which group?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer  Move ....................... to Group .......................    (3 marks)

*15 Given the formula       P = w + 4

15  (a) (i) Find P when w = 8

............................................................................................................................................

                             Answer ......................................................................             (1 mark)

15  (a) (ii) Find w when P = 20

............................................................................................................................................

                             Answer ......................................................................           (2 marks)

15  (b) Given also the formula         T = P + 2

     Use this and         P = w + 4         to give a formula that links T and w.
     Give your answer in its simplest form.

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (2 marks)
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16  Here are eight numbers.

     1              4             5             11             12             14             35             37

Put the numbers into four pairs.
Each pair must add to make a square number. 

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

   Answer ..................   +   ..................   =   ..................

   ..................   +   ..................   =   ..................

   ..................   +   ..................   =   ..................

   ..................   +   ..................   =   ..................

(3 marks)

17  What is 66 out of  600 as a percentage?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

                             Answer ...................................................................%           (2 marks)
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18  The Venn diagram shows the number of  students in Form 10X.
     Set C shows the number of  students in the Chess club.
     Set M shows the number of  students in the Maths club.

18  (a) How many students are there in Form 10X?

............................................................................................................................................

                             Answer ......................................................................             (1 mark)

18  (b) One of  the students is chosen at random.

18  (b) (i) What is the probability that the student is in the Chess club?

............................................................................................................................................

                             Answer ......................................................................             (1 mark)
   

18  (b) (ii) What is the probability that the student is not in the Maths club?

............................................................................................................................................

                             Answer ......................................................................             (1 mark)
   

Turn over for next question

8

67

C M

13

3
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19       x and y are two numbers.

           7x = 28      and      3x + 5y = 2

           What is the value of       2x + 4y?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (4 marks)

20       Penny has a bag containing 6 marbles.
           All her marbles are red.

20  (a) Penny picks a marble from her bag.

           What is the probability that the marble is blue?

                             Answer ......................................................................             (1 mark)

20  (b) Farook has a bag containing red marbles and blue marbles.
           The probability of  picking a red marble from the bag is

           What is the probability of  picking a marble that is not red?

                             Answer ......................................................................             (1 mark)

20  (c) Penny puts all of  her 6 marbles into Farook’s bag.
           Farook now has the same number of  red marbles as blue marbles.

           How many marbles does Farook now have in his bag?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

                             Answer ......................................................................           (3 marks)

END  OF  QUESTIONS

Copyright © 2012 AQA and its licensors.  All rights reserved.
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